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2015 Geometry Midterm Review (Chapters 1-4) Name: I @\Jl

1. Which three points in the figure are collinear?

A,T),E

2. Name the intersection of the plane that contains
points 4, B, and D and the plane P.

&—>
BD
3. Find the length of HJ . k————29 i cm —
1 6 8 cm 3

A1 -1b& = 175 QJ

4, Find x if S'is between R and 7, RS'is x + 3, ST is 5x, and RT is 57.

N 5 X X+ + BY= 5’1] s -
s y X+ = 6 £ 3
R\___ s T sl I
el il
5. The perimeter of rectangle DEFG is 176, EF = h, and DE = 7h. Find h. Th
D_] TE
fI\\-‘qy\*—V\%V} \'—[(ﬁ hG F

\nf ll

6. For S(-5,7), T(1,9), P(12, -1), and R(TZ@Idetermme whether ST and PR are
parallel, perpendicular, or neither.

7. Find the distance between M(-2, 3) and N(8, 2).

m \Y \G (A = | \o
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8. Find the coordinates of the midpoint of AS if A(-4, 7) and S(5, 3).

(42 ,22). (4,9

9. What type of angle is £BAC?

AcUde

#10-14 Use figure at the right.

10. Find m £ VSW if £ WSR and £ VSW are
complementary and m £ WSR is four times m £ VSW.

XA*L%X;S &0 T ZVSW= 18°

11. Name a pair of angles thi}ig are su;%lementary.

/USN % ZVSR,

12. Which angle is a vertical angle to £ UST?
Z WISK

13. If m 2 VSR = 8x + 18, find x so that US L VS .

VXA \%iﬁp
o

14, Find m £ USW if m £ USW = Tx — 34 and m £ TSR = 4x + 29.

TX=24 = 4xX +39 o S
Oh= oD 103) =24 Q\:ﬁ
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Fill in the missing reasons for #15 and #16.

Given: AC hisects # BAD.
AC bisects 2 BCD.

t1=/2
Prove: 23 = 24

Statements

BD

A
Reasons

1. AC bisects ~ BAD.
2. AC! bisects 2 BCD.

3.s1=22
4. /1=/3and 22 = 4
b, 2322724

15

'Dep ' ok
A bigector

17. Given: XY = Y7

1. Given
2. Given
3. Given
4, (Question 19)

5. ((Question 14)

1

a

Conjecture: Y is a midpoint of X7 .

Find a counterexample. \

A L | Z

SuosrituoHon

% CoLnter exam ple
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18. Suppose p is true and ¢ is false. What is the truth value of ~p v ~g?

Trpe.

OR,

19. Write the converse of the statement If two lines are perpendicular to the same line,

then they are parallel.

I} 2 ines oye // Phen %05 e _\Ltothe ©

20. Use the Law of Detachment to write a valid conclusion for the given information.

(1) If two angles are supplementary, then their measures have a sum of 180.
(2) ZXand £ Y are supplementary.

X & LN hove o Swm of K0

21, Determine whether you can use the Law of Syllogism to reach a valid conclusion

from the set of statements.

(1) If a number is a whole number, then the number is an integer.
(2) If a number is an integer, then it is a rational number.

\{&%, o nwumber \s o whoe T “Haein
i s O Yodvonal 3.
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22. Complete the proof below. 23. Complete the proof below.

Given: @ is between ey
Gi e+ 8 _ g P and R, R is between .= A
iven: —5— = Q and S, PR = @8S. P
Proveix =3 Prove: PQ = RS
Blatemants Roasons Statements Reasons
4
. x_:; LA . Ql\[m a. ) is between a. Given
fdx + BY _ o _ PandR.
b, J.lﬁ-_---.} = 2(9) b, Mult. Pmp/. ‘ h.PQ + QR = PR b, Seﬂ Md DDSJF
e dr+6=18 s ;m_k)s—‘ﬂ'\"\)'h oN c. R is between c. J&'Vf’ﬂ
= \
L dx+6—-6=18 -6/ d. QWathvaction Q and S.
e dr=_ 1N e, Substitution d. QQ«: RO=@ |d. Seg, Add. Post.
g 26, O £. Div. Pro Sl = fe e. Owen
EE_g . PR £2Q + QR = . Duloshtolon
g X="A g. Substitution Q@R + RS .
g.PQ + QR - QR =|g. A hbhuchon
QR + RS — QR

h. P@‘-’ Q% h. Substitution

24. Identify the plane parallel to plane ACE. w K
&

Plane IHF B‘E F

25. Which segments are skew to JK 2 A
P, DE, P®,RE, PH AG  EF

#26 & 27 Identify the special name for each angle pair.

26. Zland £5 |

Alt. ExT LS

27. Z10and 214

/
At Ink L5
28. Givens|tandmZ1=8x—4andmL15= 6x+24 find x.

/-t = loX +a
AX= a%

29. If 5 || £ by the Alternate Exterior Angles Theorem, which angle pairs must be congruent?

L] % £ 15 LY =/t
Z: %% L K= 213

30. Find x, AB, BC, AC if AABC is equilateral.
IOK'_‘LO - {’l)(_t‘j:) 10x—6 Tx+3

2%-=Q e
Cx=2>




31. Find the measure of each numbered angle if m £ 13 =4x + 11,

and m /14 =3x + 1.
AX+1] +2x+] =180 4(7-‘4)“‘@ ‘—7L'

1% -‘;—13:180 5(2L\)+\ :@ "

X=a4
32. FindmZ1,mZ2,and m £ 3 < 10 (wase £-S)
M L) =10 y A" R (L\;‘Qgi{
 L2= MO 5 0 L 4_5)
104" Lb'—‘— 60 Ponr Uo (bSOM) .,

. Points D, E, and F are the midpoints of E,E, and CA

a. b. c. d.
a ¥
" P A B
A S NS A7
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